	LIST OF NOTEBOOKS (2024-25)										
	ENGLISH	HINDI	MALAYALAM	SCIENCE/PRAXIS	<u>S.ST</u>	MATHS	G.K/ V.E	COMP	LIFE SKILLS		
	Indicate the no of books/pages, ruled/unruled, whether single, double or fourlined										
ı	100 pages 4 lined note book - 2 (to practice words and spellings)	100 pages Two line /ruled note book normal size -2.no.s	No Need of Note book WS Only	no note book (work sheet), 1 scrap book 25 pages		200 pages single line normal size notebook- 1 no.		not required			
II	100 pages 4 lined note book - 2 (to practice words and spellings)	100 pages Two line /ruled note book normal size -2.no.s	No Need of Note book WS Only	no note book (note sheet), 1 scrap book 25 pages		200 pages single line normal size notebook- 1 no.		not required			
III	100 pages 4 lined note book - 2 (for Literature and Grammar)	100 pages two line /ruled note book normal size -2.no.s	100 Pages 2 line Note Books3 Nos	100pg - 1 four line note book		100 pages - horizontal line normal size notebook- 3 numbers	100 Pages - single lined - 1 note book	100pg - 1 single note book	100pg - 1 single note book		
IV	100 pages 4 lined note book - 2 (for Literature and Grammar)	100 pages single line /ruled note book normal size -2.no.s	100 Pages Ruled Note Book2 Nos /100 പേജ് Two line Note Book1 No	100pg - 1 single note book		100 pages - horizontal line normal size notebook- 3 numbers	100 Pages - single lined - 1 note book	100pg - 1 single note book	100pg - 1 single note book		
V	100 pages single lined note book - 2 (for Literature and Grammar)	100 pages single line /ruled note book normal size -2.no.s	100 Pages Ruled Note Book2 Nos /100 പേജ് Two line Note Book1 No	100pg - 1 single note book		200 pages - horizontal line normal size notebook- 2 numbers	100 Pages - single lined - 1 note book	100pg - 1 single note book	100pg - 1 single note book		

	LIST OF NOTEBOOKS (2024-25)								
VI	100 pages single lined note book - 2 (for Literature and Grammar)	100 pages single line /ruled note book normal size -2.no.s	100 page single line note book- 2	Physics 200 page - single line - 1 note book. biology 200 pg -1single line note book .Chemistry 200 page - single line - 1 note book	100 page- sigle line- 2 normal size note books	200 pages - horizontal line normal size notebook- 4 numbers	100 Pages - single lined - 1 note book	100pg - 1 single note book	100pg - 1 single note book
VII	100 pages single lined note book - 2 (for Literature and Grammar)	100 pages single line /ruled note book normal size -2.no.s	100 page single line note book -2	Physics 200 page - single line - 1 note book. biology 200 pg -1 single linenote book. Chemistry 200 page - single line - 1 note book	100 page- sigle line- 2 normal size note books	200 pages - horizontal line normal size notebook - 4	100 Pages - single lined - 1 note book	100pg - 1 single note book	100pg - 1 single note book
VIII	200 pages single lined note book - 1 100 pages single lined note book - 1 (for Literature and Grammar)	100 pages single line /ruled note book normal size -2.no.s	100 page single line note books -3	Physics 200 page - single line - 1 note book. biology 200 pg -1 single line note book. Chemistry 200 page - single line - 1 note book	100 page- sigle line- 2 normal size note books	200 pages - horizontal line normal size notebook - 4	100 Pages - single lined - 1 note book	100pg - 1 single note book	100pg - 1 single note book
IX	200 pages- College size - 2 notebooks - single line	200 page(college size) - single line - 1 no.s	100 page single line note books -3	Physics 200 page - single line - 1 note book. biology 200 pg -1 single line note book .Chemistry 200 page - single line - 1 note book	100 page - King size - 2 notebooks -ruled- single line	200 pages - horizontal line normal size notebook - 4	100 Pages - single lined - 1 note book	200pg - 1 single note book	100pg - 1 single note book

	LIST OF NOTEBOOKS (2024-25)										
X	200 pages- College size - 2 notebooks - single line	200 pages(college size) - single line - 1 no.s	100 page single line note books -3	Physics 200 page - single line - 1 note book. biology 200 pg -1 single line note book. Chemistry 200 page - single line - 1 note book	100 page -King size2 notebooks -ruled - single line	200 pages - horizontal line normal size notebook - 4	100 Pages - single lined - 1 note book	200pg - 1 single note book	100pg - 1 single note book		

	LIST OF NOTEBOOKS (2024-25)									
	ENGLISH	PHYSICS	CHEMISTRY	MATHS	BIOLOG Y	C.S/I.P	ACC	B.S	ECO	
ΧI	200 pages -A4 size - 2 notebooks - single line	200 page- A4 size - 2 notebooks - ruled - single line	200 page- A4 size - 2 notebooks - ruled - single line	200 page - A4 size- 4 notebooks - ruled - single line	200 page- A4 size - 1 notebook- ruled - single line	200 page- A4 size - 2 notebooks - ruled - single line	200 page-A4 size-2note books-ruled- single line	200 page-A4 size-1 notebook - ruled-single line	100 page - A4 size- 1 note book - ruled- single line and 200 page A4 size-1 note book - ruled-single line	
XII	200 pages - A4 size - 2 notebooks - single line	200 page- A4 size - 2 notebooks - ruled - single line	. •	200 page - A4 size - 4 notebooks - ruled - single line	200 page- A4 size - 1 notebook- ruled - single line	200 page- A4 size - 2 notebooks - ruled - single line	200 page-A4 size-2 notebooks- ruled-single line	200 page - A4 size - 1 note book- ruled-single line	200 page -A4 size- 1 notebook-ruled- single line	